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Third Semester B.B.A. Degree Examination, March 2022
Career Related First Degreé Programme Under CBCSssg
‘ | Core Course
BM 1343 : cOST AND MANAGEMENT ACCOUNTING

(2014 - 2016 Admission)

Tim_e : 3 Hours Max. Marks : 80

SECTION — A

(Answer all questlons in-one or two sentences Each questlon cames 1 mark)
1. Define Management Accountmg '

What is ane Cost?. .

What is meant by cash flow?
Define Zero Based budgeting.
What is EPS? |

What is Direct Labor?

2

3

4

5

6.. What is Ratio Analysis?
7

8. Define Inventory.

9.

What is Flexible Budget’?
10. What are leed Overheads’?

(10 x 1 =10 Marks)
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Short answer questions

(Not to exceed ON¢

Each question carries 2 marks.

11.

12.

13.

14.

15.

16.

17.

-18. .

19.

20.

21.

22.

What is Specific Order Costing?
What is Time Study?

What is Cost Centeré?

What is a Bin Card?

What is ldle; Time?

What do you mean by Margin of safety?

What is Buffer Stock?

State any two functions of Management Accounting.

What is Window Dressi‘ng?

Calculate .quick ‘ratio when Quick Assets

Liabilities = 4,80,000.
What is Transfer Pricing?

What is stock Velocity?

paragraph). Answer any eight questions.

3,60,000 and Current

(8 x 2 =16 Marks)
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SECTION-C

i h
i estions. Eac
Short essay quest; o .
question carries 4 %gsrkg,\lot to Exceed 120 words). AnS -
t of eastern India engineering
en

o , ou
28 You are requireq 1o gport to top managemEn, ooy even for the purpose ¥
0

ggg%a%); ::he Point of sales in terms of RUPE®
Fixed overheads .Rs. 12,000

Variable costs Rs. 12,000

Selling price is Rs.600 per ton

The tonnage produced
and sold as 30 tons.
(@) Rs.36,000 =

(b) Rs. 32,000
(c) Rs. 30,000
(d) Rs. 38,000

24. Explain the various types of ﬁnan‘cié‘l statement analysis.
25. State the various functiqns of managemen;( accounting.
26. What is cash budget? Enlist its objectives and advantages.

27. ‘ From the following information, calculate the current ratio:

, Rs.
‘Machinery 2,50,000
Prepaid expenses - .2,000
Sundry Debtors 1,67,500

Cash in hand and bank 15,500
Short Term Investments . 20,000
'Su Sundry Creditors 1,50,000

Stock - 1,45,000.
Bills payable ~ 38,000
Expenses Payable 12,000
Long Term Loans 75,000
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28, Calculate cash from operating activities fiem wﬂmm%\__._%w\_”:m“
2007 2008
Rs. Rs.

Profit and LOSS account 60,000 65,000

Debtors . 85,000 48,000

Bills Receivablé 40,000 81,000

General Reserve 1,72,000 2,07,000

Wages outstanding 26,000 8,000

Salaries U:w_uma 8,000 10,000

Goodwill 70,000 60,000

29. From the following balances calculate cash from operations:
, 31-12-07 31-12-08
Bills Receivable 50,000 47,000
Debtors 10,000 12,500
) Bills Payable 20,000 25,000
Creditors 8,000 6,000
Outstanding Expenses 1,000 1,200
Prepaid Expenses 800 700
Accrued Income 600 750
Income received in advance 800 250

- 70,000

30. Calculate the Break even u.o:;_
5,000 from the following information:

profit of Rs.

Profit made during the year

Rs.
Sales : 40,000
Fixed costs 7,500

Direct Materials 20,000
Direct labour 6,000
Direct Expenses 4,000

31 What are the essentials of effective budgetary control?

Margin of safety and sales required to.earn a

(6x4=24 Marks)
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Long essay Questions, Ap,
m<<.m_. any

33.
34.

35.

two Questions. Each Question carrieg 15 marks

A factory engageq j
N Mman )
Ufacturing Plastic toys is working at 499 capacity ang

produces 10 000 to

' YS per

under, Materia; - Rs. 10 rm”wo:ﬁ:. The present cost break Up for one toy is g
ur:

price is Rs. 20 Per toy, If g oo m.m. 3 Overheads : Rs. [60% fixed]. The selling
‘selling. price falls By 53, S decided to work the factory at 509, capacity, the
accompanied by 5 Similar M.___? 90% capacity, the selling price falls by 5%
a staternent m:o<<5@ e allin the price of material. You are required to prepare

© profits/losses at 40%, 50% and 90% Capacity utilization.

Give model Perfor
Ma of a Fung Floy Statement with imaginary Figures.

What is Zero B i
ased Budgeting? llustrate its advantages and Disadvantages.

The followi .
Ing data are taken from the manufacturing records of a company for an

year:
Fixed Expenses Rs. ‘000
Depreciation - 100
Rent and Rates : . 120
Wages and salaries | 80
300
mmB_ Variable expenses (at 50% capacity)
Repairs and Maintenance : 70
80

_:Q:.moﬁ. Labour
150

Variable mxumsmmm (at 50% capacity)

Material s
Labour -
530
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Assume that fixed expenses aawmm%umwwﬂ for all levels of production, sem;
variable expenses remain constan ity and 5% and 655 Capacity, increase by
10% between 655 and 80% capacity by 20% between 80% - and 100%

capacity. Sales of various levels aré

Capacity Sales (rs)
60% 10,00,000
75% 12,00,000
90% 15,00,000
100% 17,00,000

Prepare a flexible budget for the year and forecast the profits at 60%, 75%, 90%

and 100 capacities.
(2 x 15 = 30 Marks)
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